TecTyBaHHSA YMiHb ayAlitOBaHHA
Yy BUILOMY HEMOBHOMY 3aKnapi

Tiponouyemo 6 yiit cmammi oéa Komniaexcu
MeCMosUx 3a60aHb ONIA NOMOUHO20 | MeMamuy-
HO20 KOHIMPOTIO aydumuem{x )L’l-iiH b 30 MEMAMU.
“Computer System: Hardware Configuration”
ma “Computer applications”. Kodicen 3 yux kom-
nAEKCig Modce bymu auxopucmanuti y npoyeci
HABYUAHMSA AY OIOBANHNA CINYOEHINIE 2-20 KypCy He-
MOBHUX (HaKyTbmemis 8UIUX HAGHAALHUX 3aK-
Na0i6 3a CHeYiaRbHOCHIAMU, NOE AZANUMU 3 6UE-
YEHHAM KOMN IOMEPHUX 1MeXHOI02IIL.

Komnnekc mecmosux 3agdans exnouae 4 vac-
munu. Tecmoei 3aedanman wacmun A, B, C pexo-
MEHOYEMO BUKOPUCINOEYEAMU ONIA NOIMOYHOZ0
KONMPOJIO AYOUMUEHUX YMIHbL Nid Yac 0Ho6 a3-
KOBUX AYOUMOPHUX 3aHAMD, AKI 0XONTHI0MbCA
O0HIEI0 i3 BKA3AHUX MM,

VY npoyeci npogedenns nomounozo mecmo-
6020 KOHMPORIO AYOUMUCHUX YMIHb MOJICHA
ompumamu ingopmayio npe ycniwnicms gop-
My6aHHA Y CINYOEHIMIE YUX YMiHb, @ IMAKONC (M-
hopmayito npo doyinbHicmb 3aCMOCYBAHHA TNUX
YU THIUUX Mmool | npuitomis Hasuanis. Pesyn-
mamu, Ompumani 6 Xo0l NOMO4YHO20 KOHMPOTIO,
00360AAMb CINENCUMU 30 ePeKINUEHICII0
npoyecy HaguanHs i CEOEYACHO KOPURYBAMU HeOo-
AIKU.

Pesynvmamu nomounozo mecimysamus ne mo-
ACY N6 OYMU GUKOPUCTNAHT 0118 0ghiyitinol oyinKu
pigHA cihopmosarocmi ayOumueHUX yMiHb cmy-
0eHma, OCKLTbKU NOMOYHULL KOHMPOIb CHpAMO-
8YEMBCA HA BUIHAYEHHA NPOMIJICHUX, a He KiHye-
8UX pe3yapmamia ¢ 080100IHHI aydiloeannsm.’

Tecmoai 3ae0auna uacmuny D caid 3acmo-
cosygamu nid 4ac MemMamuiHo20 KoHmpoao
AyOUMUBHUX YMIHL CIYOEHINIE HA 3AKAIOYHOMY
3aHAMMI NICASA 306EPIUEHHS BUBNEHHSA 3200AHUX
mem,

3a donomozolo memamuuno20 Mecmoeozo
KOHMPOMIO GUIHAYAEIMLCA PIGEHL G0M00IHHA
cmydenmams ay OUMUEHUMU BMIHHAMU ) MEHCaX
memu, wo uguanacs. 3a pesyasmamamu
MeMamuyno20 mecmysanHs cmyoeHmam
gucmagaacmvea oQiyitina oyinka.’

IIpoueaypa niaroToBKIl A0 TeCTYBAHHS
1. lidzomoska 36yKo3anucy.

T'oTyiouKch 10 NPOBeAeHHS TECTYBAHHA 3 IONOMOr0H 3radaHiX
BHI1[E KOMIUIEKCIB TECTOBHX 3aBAAHb, NOTPIOHO O3BYUHTH iHLIOMOBHI
MOBJIEHHEBI MOBIZOMJIEHHA, TEKCTH SKMX NMPOMOHYIOTLCH HHKHE.
baxaHo, 100 03ByUeHHs TEKCTIB 3/iHCHIOBANIOCH HOCIAMM MOBH.
3ByKoO3anuc NOBHHEH OyTH skicHuM, De3 3aiiBux wymis. Haun-
TYBAHHSA TEKCTY 3JIHCHIOETLCA 3 JOTPUMaHHAM Temny — 200 cknajis
3a xpunuuy. Ilicas miarotoBku oHOrpaMu cIif BH3HAUHTH TPH-
BaJIICTh 3BYUAHHS KOXKHOTO ayaioTeKCTy AIA TOUHOTO PO3PAXYHKY
yacy, HeoOXiZIHOT O Ul MPOBEeHHA TECTYBAHHS.

2. llidzomoska onauxis i3 3aedannsm.

Jns npoBeseHHs TecTyBaHHA HEOOXiAHO NIATOTYBATH OJIAHKH i3
3aBaaHHAM. Taxuii OaHK MiCTHTb IHCTPYKLIIO, TEKCT TECTOBOTO 34B-
JAHHA, 4 TAKOXK NPUMITKY NPO KiJIbKICTb 0aiB, 110 BCTAHOBJIETHCA
34 KOXHY NMPaBHIIbHY BIANOBiAL (ANB. daji 3pa3ky ONaHKIB i3 3aB-
JTAHHAM).

3. lliozomoska dnanxie 0is éidnogioeit.

Kpim 6naHkiB i3 3aBIaHHAM HeoOXigHO MaTH OMaHKH AnA Big-
nosizfeil. Bonn BukopucToByioThCH Ui ohopMIIeHHA Bianoeigei
TECTOBAHMX (IMB. Aai 3pa3ky DIaHKiB [UTd BiAnoBigeii).

Ilpoueaypa nposejenns recTyBanHs

TecTyBaHHS 3 BUKOPUCTAHHAM TECTOBHX 3aBAAHb IS TOTOUYHOTO
| TEMATHUHOTO KOHTPOITIO Ay AIIOBAHHSA BUMATAE JOTPHMAHHS MEBHOT
MpoueAypH HOTo opraHisauii, ska nepeidauae npaBuiibHe PO3Ta-
IIYBAHHA TECTOBAHMX MiJ YAC MNPOBELEHHA TeCTYBAHHS, O3HAHOM-
JIEHHA 1X 3 NaM ATKOIO-IHCTPYKUicto, Buaady OnaHKiB i3 3aBAaAHHAM
Ta OnaHKiB A4 BiAMOBiAei, NPOCAYXOBYBAHHA aydiOTEKCTY Ta
OohOpMIIEHHA TECTOBAHMMH CBOIX BiNOBIACH.

1. Po3mautysanus mecmosanux nio wac nposeoenis mecmyanis.

s npoBefeHHs TeCTYBaHHA HeOoOXigHO 3a0e3neduTH MAaKCH-
MaJbHO MOMKIMBY CAMOCTIHHICTH BUKOHAHHA TecTy. s uboro cnin
NOCAJUTH TECTOBAHMX MO OJHOMY 3a cTinl. baxkano, wob cronu dynu
po3TawoBaHi Ha BiacTaHi 1-1,5 M oauH Big ogHOTO.

2. O3HatioMNeHHA MECHOSANIX 3 UM AINKOIO-IHCINP YKUIET0.

Ilicns po3MilleHHs TECTOBAHMX B ayaMTOpil X HeoOXigHO
O3HANOMHTH 3 MaM ATKOIO-IHCTPYKLI€IO 1010 BHKOHAHHSA TECTOBHX
3aBJaHb. BoHa BMIAETHCS KOWKHOMY TECTOBAHOMY i MiCTHTL PeKo-
MeHauil, BUKJIaJeH] YKPATHCbKOW MOBOI JAMA YHHKHEHHSA
HETOYHOCTEH ¥ PO3yMiHHI TX 3 GoKy crysenTie. Pexomengauii nawTh
TOYHI HACTAHOBH LOA0 NOPAJKY Ta 3MICTY AisSVIbHOCTI TECTOBAHHX
npu podoTi 3 TectoM. Huxue HapoauThCA NpuKaAaz nam aTKH-
iHCTpyKLIT.

' Terpautyx O.I1. Buay TecToBOro KOHTPOIIIO Y HABYAHHI iHO3eMHOT MOBH B CEPE/IHIX HABUAILHUX 3aknanax. // [nosemui Moy, —

1998, Ne 1. - C. 15-17.
! Bkas. npaus.
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Ilam’arka-iHeTpyKuis
1010 BAKOHAHHS TECTOBHX 3aBJaHb

1. ¥Baxkno npounTaiite incTpykuimo, po3MilleHy nepen

TECTOBHM 3aBIAHHAM.
3anam’aTaiiTe, 1K 3anucyBaTH BiANOBiMp,

2. YBakHO PO3CJIAHLTE MAMIOHKH, Tabauui, miarpamw,
CXeMH ToLUOo ab0 o3HAMiOMTecH 3 peueHHAMH, SKi No1a-
I0TbCA HA ONAHKY i3 3aBAAHHAM,

. locnyxaiiTe 3anpononoBanuii Bam AyAIOTEKCT,

. 3HaiiniTh BiANOBIAI, AKi BU BBANKAECTE NnpaBUIILHHMHU.

- 3anuuwiTe BiANOBIAi Ha GiaHKy s BiANOBICIL.

. SIK1o BM BUPIWIMIN 3aMiHNTH Bi/lNOBifb, 3aKpecniTh
MOTEPEJIHIO | OPYY 3ANUILITH iHWHT BapiaHT.

7. Yac, BiiBe/1eHMiT Ha BHKOHAHHS TECTOBHX 3aBAaHb, 00-
MEXEHNH (BKA3YEThCA KiNbKICTh XBUIHH), TOMY npa-
UIOHTE Y WBHAKOMY TeMni, uob BCTHTHYTH JATH Bijl-
MOBIli Ha BCi NYHKTH TeCTOBOTO 3aBaanns. Ti MYHKTH,
Ha AKI BH HE TaJIH BiATIORI/i, BBAXAIOTLCH HENPaBHII b~
HUMH,

ByanTe 30cepemkennMn Ta yBaxHUMM i BH 1ocArHeTe
OaxaHUX pe3ysibTaTiB.

N L o

baxaemo yenixy!

3. Budaua 6nanxis iz 3a8dannusm ma bnanxic dnn gionoesidei
mecmosanum.

ITicns o3Haiiommenns 3 naM’aTkom-iHcmyKuiem TECTO-
BAHHM BHAAIOTLCA ONAHKH i3 3aBAAHHAM Ta GIaHku 11
BiANOBiAei. Y BUNaJKy, KOMM HA OCHOBI OAHOTO aynio-
TEKCTY NOTPIOHO BMKOHATH HEKiNIbKa TECTOBUX 3aBIAaHb,
Bnanky i3 3aBranHAM Ta GnaHkH IS BiZIMOBi/ieii TecTORA-
HUM HeoOXiHO BHaaBaTH Ge3nocepentbo nepes BHKOHAH-
HAM KOXHOTO HACTYMHOTO TECTOBOrO 3aBIAHHA.

4. Cnpuitwannsn aydiomexcmy.

AN BUKOHAHHA TECTOBOTO 3aBAAHHA YACTHH ALBC
3aNPONOHOBAHMX KOMIUIEKCIB TECTOBAHI CIPHIAMAIOTEH
aAyMIOTEKCT OJMH Pa3. BUKOHAHHA TeCTOBOTO 3aABJAHHA
YacTuiu B nependayae npocnyxosysanus ayaioTeKCTy ABiui.
3. Odopmnenns mecmosamumu ceoix sionosioeii,

Jns odopMIeHHs TeCTOBAHUMM CBOIX Bignosigeii Ha
Onankax mis Bimnosimeit BigBoAMTHCK 5-7 XBHJIMH Tics
NpociyxoByBanHa ayniotexcry. KinbkicTs XBunuH, wo
BCTAHOBMIOETBCA TS BiAMOBI/Li, 3aJI€KHTD Bij CKJIaTHOCTI
Ta 0OCATY 3aBIaHHA.

Hpouenypa ouinrosanns Bignosineii TECTOBAHNX

Ipouenypa ouintoBanus Bignosineii TECTOBAHHUX
CKITAMA€THLCS 3 TPLOX €TANiB.

L. Hepesipra Gnanxis dna sionosioeii,

[epesipka 6mauxie nns signosineii nepenbauae
BH3HAUCHHA NPaBHIbHUX aDO HeNpaBWIbLHUX BifmoBineii
TECTOBAHMX LIIAXOM NOPIBHAHHA 3 KJIHOUeM (JMB. AaJli KITIoui
1o Bifnosineii). IIpaBunbHUMK BBaKAOTBLCS BApiaHTH
BIAMOBi/eH, AKi BiAMOBIAAIOTL KIrOUAM | MPEICTABIIEH] B
CEMAHTHYHO NPHAHATHINA hopmi. Jlekcuxo-rpamaTuyHi
MOMHJIKH HE BPAXOBYIOThCS.

2. Hidpaxynok banie.

Higpaxynok 6ais, onepaHux TECTOBAHUMM 34 BHKO-
HAHHA TECTOBOTO 3aBJAHHA, 3IHCHIOETHLCA HA OCHOBI BCTA-
HOBJICHOT KiJIbKOCTI 6aiB 3a KOKHY NpaBHIILHY BiANORI/bL
Uboro 3aBaanH. Kinekicrs 6anis Bkazana Ha bnanky i3
3aBJIAHHAM,

3. Hepesedenns banis ¢ axademiuni oninxu.

Iicnst nigpaxynky 6anis, oTpumannx NPH TECTYBAHHI,
BU3HAYAETBCA BIZICOTOK NPABMILHMX BiAMOBicH. Akae-
MiYH2 OLIHKA BCTAHOBITIOETLCS 34 JOnoMoro tTabnuui oui-
HIOBAHHS PE3YNBTATIB BUKOHAHHS TECTY, 0 HABOAHTLCA
HHKUE.

Tabauun owimosanns pesymmamis euxonanns mecmy

BigcoTok npasnisHux Bianosigeii Oninka
95-100 BIAMIHHO
75-94 nobpe
50-74 34J0BUILHO
0-49 HE3AA0BIILHO

(3a Panonopmom ma in., 1987)

Hani HaBOAATECS KOMIUTEKCH TECTOBHX 3aBAAHb 10 TeM
"Computer System: Hardware Configuration” ta “Com-
puters applications™.

Computer System: Hardware Configuration

Yacmuna A

Tapescript

A computer system consists of two parts: the software
and the hardware. The software is the information in the
form of data and program instructions. The hardware com-
ponents are the electronic and mechanical parts of the Sys-
tem. The basic structure of a computer system is made up of
three main hardware sections: (i) the Central Processin g Unit
or CPU, (ii) the main memory, and (iii) the peripherals.

The CPU is a microprocessor chip which executes pro-
gram instructions and coordinates the activities of all the
other components. In order to increase the speed of the cen-
tral processor. a co-processor chip can be installed inside
the computer. This co-processor performs calculations very
rapidly.

The main memory holds the instructions and data which
are currently being processed by the CPU.

The internal memory of a microcomputer is usually com-
posed of two sections: RAM (Random Access Memory)
and ROM (Read Only Memory).

The peripherals are the physical units attached to the
computer. They include input/output devices as well as stor-
age devices. Input devices enable us to present information
to the computer; for example. the keyboard and the mouse.
Output devices allow us to extract the results from the com-
puter; for example, we can see the output on the monitor or
in printed form. Secondary memory devices such as floppy
and hard disks are used to provide permanent storage of
information.

' Panonopr H.A., Cenwr P., Cotrep H. Tectnt B 06yucuun HHOCTPAHHBIM 3bIkaM B cpejiicii wkone. Mocodue ans yunreneii.

Tannuun, 1987, — C. 184- 205.
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Yacmuna B

Tapescript

When you install a hard disk it works extremely well to
begin with. Then, after a few months, you may start to no-
tice that it’s not so efficient — it becomes slower. This is
because of something called fragmentation.

After the operating system has stored, copied and erased
lots of files it starts to have difficulty in storing files in sec-
tors that are next to each other, or ‘contiguous’. When it
can’t find enough ‘contiguous space’ to store complete files
it starts to break new files up into fragments. Files start to
be stored in different sectors scattered all over the disk in-
stead of in one single group of contiguous sectors.

As more and more files are fragmented, the operating
system and the disk heads have to work harder and harder
to find all the pieces of a fragmented file.

Access time slows down, and the constant movement of
the read/write heads can damage the drive.

One easy way of restoring your disk to its earlier level
of performance is called 'optimizing'. This is when you make
a back-up copy of the hard disk, erase the contents of the
original and then copy all the files back onto it. You gain
more contiguous space because the free space is no longer
spread all over the disk. This works quite well, but takes
quite a lot of time.

There are also special defragmenting programs that can
help you fix your disk. They can show you the level of frag-
mentation on your disk and if you decide to optimize the
disk they will reorder the files into contiguous sectors. Some
can defragment disks while you're using the computer, and
can even prevent future fragmentation.

Yacmuna C
Tapescript

Radio Presenter. Now it’s time for this week’s edition of

Hotline, introduced by Miranda Green.

Miranda: Good morning. Are you about to buy a new
printer? And are you confused about all the different
sorts on the market? Well, this week we're looking at
ink-jet and laser printers. In the studio with me is Mr
John Kelly from TexPrint, manufacturers of ink-jet
printers. Mr Kelly, how does an ink-jet printer work?

Mr Kelly: Well, basically, an ink-jet printer operates by fir-
ing droplets of ink onto the paper.

Miranda: And is this a good method of printing?

Mr Kelly: Yes it is. It’s much quieter than the dot-matrix
printer and its output is of a much higher quality.

Miranda: Butit’s more expensive than the dot-matrix, isn’t
it?

Mr Kelly: It is, yes, but, as I say, it’s quieter and produces
better results.

Miranda: And what about laser printers? How do they com-
pare with ink-jets?

Mr Kelly: Well, laser printers do produce better quality out-
put than ink-jets, but ink-jets are still an excellent alter-
native and could become real competitors for laser print-
ers.

Miranda: Why's that?

Mr Kelly: Well, they are much cheaper than laser printers
and some of them can produce up to 360 dpi resolution,
which is very good.

Miranda: And what kinds of things can ink-jets print? Can
they just print sheets of paper, or do they do other things
as well?

Mr Kelly: Oh yes, they can print envelopes, labels and even
transparencies.

Miranda: And what about colour? Are there many colour
ink-jet printers on the market?

Mr Kelly: There are indeed, and some are PostScript com-
patible, so they can be used in professional graphics and
business presentations. They operate by mixing four inks
- magenta, vellow, cyan and black - to produce differ-
ent colours. They are quite expensive for individuals but
for small businesses they can be ideal.

Miranda: What would your advice be to someone thinking
about buying a new printer?

Mr Kelly: Well. I think that if you can afford it a laser printer
is the best option. But if you don’t want to spend so
much, then a black-and-white ink-jet printer is a very
good choice.

Miranda: Thank you very much, Mr Kelly. And now over
to Sally, who's going to tell us how to find out which
printer is compatible with which computer ...

Yacmuna D

Tapescript

Good morning, everyone! Welcome to the model office.
Last week I showed you around the office and indicated
some of the range of equipment we have here for students
to practise using. You had just had a lecture on peripher-
als, hadn’t you? Well, I said I would talk to you in more
detail today about printers, so here we go.

As you know, there are many types of printers and which
one you decide to use will depend on all sorts of things, like
how much you can afford, what kinds of documents you
are intending to produce, who will be receiving your printed
material, and so on. [t may not always be necessary to use
the finest quality of printing all the time. There will be oc-
casions when a draft quality will suffice, for your own use
or some other in-house function.

Now then, if you can move round to this work station
and make sure everyone can see... good, that’s fine. Print-
ers provide the user with hard copy (that’s permanent copy)
of information that can, for example, be posted to clients,
etc. I'm thinking of bank statements, salary slips, and so
on which need to be output on a line printer. There are two
types of printer: line printers and character printers. Do
make a note of those two terms. Line printers can type a
complete line at a time whereas character printers can only
print a single character at a time. An ordinary typewriter is
a character printer.

" Now look closely at this. This is a dot matrix printer. Some
of these are line printers but the majority are character print-
ers. They are mainly used with micro computers because they

lHoaemni Mogu Ned/1399
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are fairly cheap. They consist of seven or nine ham-
mers that can be struck individually under computer
control against an inked ribbon to make a dot on
the paper. By striking the right hammers at the right
times they print numbers and letters. By going over
each character twice and moving the print head
slightly it is possible to produce near letter-quality
print. Obviously this takes longer.

The daisy wheel printer consists of a wheel with
lots of arms attached to it, rather in the way petals
are attached to a daisy. At the ends of these arms
are two characters, one above the other. The daisy
wheel rotates and a hammer presses the carbon pa-
per against the arm. Daisy wheel printers are slow
but produce high quality print. They are used
mainly for producing business letters in conjunc-
tion with word processors and aren’t expensive.

Laser printers are extremely fast and are used
for producing Giro cheques and gas and electricity
bills. Quiet, of course, because the system is non-
impact. Laser printers are quite expensive but are
ideal where large quantities of bills need to be sent
out in a short space of time.

Ink jet printers use a technique of spraying tiny
drops of ink onto paper to form characters. The
new printers are able to print graphics as well as
use several coloured inks. They are expensive but
have the advantage of being quiet. Goodness, we're
almost running out of time. Does anyone have any
questions? I'll try to ...

Tapescript

Paul: Can you tell me what a CD-ROM disk is,
exactly?

Assistant: Well, it’s just the same as a CD used for
music, only instead of music it stores computer
information. The data is stamped onto the alu-
minium disk which is then covered in plastic.

Paul: And do you need a special drive to read one?

Assistant: Yes, you need a CD-ROM drive, which
reads the data with a laser beam.

Paul: And how much information is on each disk?

Assistant: Masses! A typical CD-ROM disk can
hold 650 megabytes of sound, text, photographs,
music, multimedia material and applications.

Paul: Gosh! And can you add your own material
to what’s on the disk? '

Assistant: No, you can’t — it's like a music CD -
you can’t change what’s on there. It’s not de-
signed for you to write on - it's designed to hold
lots of information that the user doesn’t need to
change.

Paul: And can you use a CD-ROM drive to play
CDs on?

Assistant: Yeah, on most CD-ROM drives. If you
come with me I'll show you what drives we've
got...

Tema: “Computer System: Hardware Configuration”,
3paskn Gnankis i3 3aBgaHHAM.

Yaemuna A

Task 1.

Youare in a lecture. Listen to it carefully. Put the statements express-
ing the main points of the lecture in the ri ght order according to the text.
To help you, we have already put two statements in the right order. On
your answer sheet put a); b); ¢) in the boxes.

0 000

1. Its software:
a) Data and program instructions
Its hardware:

The main memory. Its functions and components
What peripherals are.
Their components and functions
The CPU and its functions

You will get 2 points for every correct answer.

Computer system

Task 2.

Youare in the lecture on a computer system. The lecturer concludes
with a brief summary. Listen to it carefully. On your answer sheet next
to the numbers put the terms appropriate for labeling the diagram.

| Computer system
data and electronic and
programs: mechanical parts
software T e e s
the “brain” of physical units attached to the computer
the computer [[main memory
Biiiignenecaniners T
chip which storage|| devices for devices for
increases the devices|| presenting ||extracting the
speed of information to|| results from
calculations the computer || the computer
T st 8. ) s e Pl
17 18 14

You will get | point for every correct answer.

Yacmuna B

Task 1.

Listen to Vicky Cameron, the IT lecturer, talking to her stu-
dents. Define which of the statements below matches the main idea
of the lecture. On your answer sheet put “+* next to the number of
the sentence which matches it and “—* next to the number of the
sentence which doesn’t match.

a2

[HE3EMAI
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I. Changing a fragmented hard disk by a new one is the
only way out in case of fragmentation.

2. One of the most effective ways of hard disk defragmen-
tation is its repairing.

3. The most effective ways of hard disk defragmentation
are its optimizing or using a defragmenting program.
You will get 3 points for every correct answer.

Task 2.

Listen to Vicky Cameron, the IT lecturer, talking to her
students. Define which of the sentences below are true or
false, which of them contain information not mentioned in
the talk. Put "T" (true), "F" (false), "NI" (no information)
in the boxes on your answer sheet.

4. [ Fragmentation slows down a computer’s perfor-
mance.

5. [] Fragmentation is a process of breaking new files up
into fragments which causes storing of files in differ-
ent sectors scattered all over the disk instead of in
one single group of contiguous sectors.

6. [] A new hard disk stores information in non-contigu-
ous sectors.

7. [ A defragmented hard disk is more efficient than a
new hard disk.

8. [] The most effective ways of defragmentation are us-
ing a defragmenting program or optimizing.

You will get 1 point for every correct answer.

Task 3.

Listen to Vicky Cameron, the IT lecturer, talking to her
students. After listening read the extract from the talk, think
of the words to fill in the gaps. On your answer sheet put
the appropriate words next to the numbers. To help you,
the first letter of each missing word is given.

When you install a h d (9) it works
extremely well to begin with. Then, after a few months,
you may start to notice that it’s not so efficient — it be-
comes slower. This is because of something called
f (10).

After the o s (11) has
s (12), copied and erased lots of f (13)
it starts to have difficulty in storing files in sectors that
are next to each other,or "¢ "(14). When it can’t
find enough “contiguous space” to store complete files
it starts to break new files up into f (15). Files
start to be stored in different sectors scattered all over
the disk instead of in one single group of contiguous sec-
tors.

As more and more files are f (16), the
operating system and the disk heads have to work harder
and harder to find all the pieces of a fragmented file.
Access time slows down, and the constant movement of
the read/write heads can damage the d (17).

You will get 1 point for every correct answer.

Yacmuna C.

Task 1.

Are you fond of listening to radio programs about com-
puters? Listen to the radio interview. Choose the correct
answer to the question. On your answer sheet next to the
task number put A; B or C.

What's the interview you'vﬂ

just heard about?

L

% Types of input dewces)
%Types of pr mters

A. Pcuphemls
B.

You will get 2 pomts for the correct answer.

" Task 2.

What kind of a printer or printers do you prefer to use?
Listen to the radio interview and arrange the statements
below in the order they are presented in the text. On your
answer sheet put the appropriate numbers in the boxes.

2. [] A black-and-white ink-jet printer is a very good
choice for those who don’t want to spend much.

3. [] An ink-jet printer is quiet and produces high-qual-
ity output.

4. ] Colour ink-jet printers operate by mixing four inks
to produce different colours.

5. [] An ink-jet printer operates by firing droplets of ink
onto the paper.

6. [ Colour ink-jet printers can be used in professional
graphics and business presentations.

7. [] Colour ink-jet printers are very expensive.

You will get 1 point for every correct answer.

Task3.

What kind of a printer or printers do you prefer to use?
Listen to the radio interview. On your answer sheet write
down the appropriate words or word-combinations, which
will complete the journalist’s notes, next to the numbers.

Ink-jet printers

operate by firing droplets of ink onto the paper
8. provide high quality......coooooviriiiiiii
9. expensive, but cheaper than...........ccooiinn.
10. print sheets of PAPer........cccoiiniiminmmnmmicsssissnsnensssssass

good choice for individuals
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Colour ink-jet printers

[T, 0perate by ........coovuomvereieiieceeceeeeeee e
to produce different colours

12.canbe used in..........ovuveveveeeeicooi oo
Laser printers

I3. produce very high quality............cooooooeo

L L o —————————————
You will get | point for every correct answer.

Yacmuna D,

Task 1.

You are visiting the model office. Listen to the lecture on
printers given by one of the business Studies lecturer. Choose
the appropriate completion of the sentences below. On your
answer sheet put A; B; C next to the sentence number.

1. A dot-matrix printer is more suitable Jor...

A ... small companies
B ... in-house function
C ... large companies

2. A daisy-wheel printer is more appropriate for use in...

A ... large companies’ offices
B ... small companies' offices
C ... private places

3. A laser printer is the best option Jor...

A ... individuals
B ... small businesses
C ... large businesses

4. A colour ink-jet printer is a very good choice for...

A ... individuals
B ... failing businesses
C ... prosperous businesses

You will get 4 points for every correct answer.

Task 2.

Are you interested in CD-ROMs? Listen to the conver-
sation at a computer exhibition to get some information.
Read the sentences below. Define what advantages or dis-
advantages of a CD-ROM do they imply? On your answer
sheet next to the sentence number write down appropriate
letters A; B; C; D or E.

5. A CD-ROM drive reads the data with a laser beam.

6. A typical CD-ROM disk can hold 650 megabytes of
sound, text, photographs, music, multimedia materjal
and applications.

7. The data on a CD-ROM disk cannot be changed or
“written” to.

A. CD-ROM is the most economical way of sharing infor-
mation,

. A CD-ROM disk is like a compact music disk.

. CD-ROM is not widely used for “personal” data stor-
age.

. CD-ROM drives can play audio CDs,
CD-ROM drives are fast enough.

You will get 4 points for €Very correct answer.
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Tecrose 3asaarns No | Tecroee 3aBnanus No 2
1. 5
2.0 6.
3 B §7.
4.0 i8.
9.
10.
11,
12.
13
14,
15.
16.
17.
S8,
Yacmuna B
TecroBe 3aBnanus No | Tecrore 3aBnanns No 2
E 4.[]
2. 5.0
3. 6.1
7.0
8. ]
Tectose 3apganns No 3
9. 14.
10. 13,
I, 16.
12. 17.
3.
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Tecrose 3apganns No [
l.

Tecrone 3aBaanng No 2

2B

3.0
4.[]
15.0J
6. ]
7 L
Tecrose saBmanns Ne 3
8. 13.
9. 14,
10. 15
I, 16.
12,
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3.
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Tecrose 3aBnanHs No |
1. 1I

2. b)
3. ©
4, a)

Tectose 3aBaaHusa Ne 2
hardware
CPU
CO-Processor
RAM

9. ROM

10. peripherals
[1.input devices
12. output devices
13. mouse

14. keyboard

15. monitor

16. printer

17. floppy disk
18. hard disk

o~ oW

Yacmuna B

Tecrose 3aBnanns Ne 1

TecTose 3aBnaHus Ne 2

10. fragmentation
I1. operating system
12. stored

13. files

1. 4T
2. L i
3. 6. T
7. NI
8. T
TecroBe 3aBganHsa Ne 3
9. hard disk 14. “contiguous”

15. fragments
16. fragmented
17. drive

Yacmuna C

Tecrose 3aBmanns No |
1. B

TectroBe 3aBaaHus No 2
6

v b G

N — e

]

8. output
9. laser printers

11. mixing four inks

13. for individuals
14, small businesses
15. output

16. expensive

Tectonpe 3aBmanns Ne 3

10. envelopes, labels and even transparencies

12. professional graphics and business presentations

__Yactuna D

Tecrose 3aBmanna Ne |
1.B

w2
O w

4.C

Tectose 3aBaanHg Ne 2
5B
6. A
1@

"Computers applications”

Yacmuna A

Tapescript

... S0, as we were saying, robots, unlike people, don’t become
ill, don’t have tea breaks, don’t go on strike! (laughter). They can
also work continuously and at the same rate throughout the day.
Robots are able to produce the same standard of work over and
over again. I guess most of us would like to have a robot as a
personal servant to do those jobs we hate doing, you know, wash-
ing up, the ironing ... doing assignments in computer science per-
haps (more laughter!). Unfortunately the robots we have at the
moment aren’t capable of doing the problem solving type of jobs
that would really be useful! Who knows what the future might
bring, of course! We do, however, have personal robots such as
OMNIBOT and TOPO that can deliver goods and messages from
one room to another. The commonest type of robot is free-stand-
ing and used in factories. They consist of a flexible arm to which
any number of tools can be attached, paint sprayers, soldering
irons etc. controlled by a computer which is built into the stand.
They are mainly used for building cars, washing-machines and
other household goods. We now even have robots to build robots.

One huge advantage of robots is that they can worlk in dirty or
dangerous conditions. It is obviously much easier to replace a
robot than a human life. The army use robots to investigate bombs
and make them safe. Cars are often left filled with explosives and
booby trapped. A moving robot can be steered by remote control
and used to view the inside of the car. Robots can also be used
under water where they can work for a much longer time than a
human being would be able to. They are used for inspecting un-
derwater structures such as drilling platforms and can be very
useful in recovering ships which have sunk or aircraft that have
crashed into the sea. | have here a film [ thought you might like to
S8

Yacmuna A

Tapescript

You are now going lo hear a lecturer describing to students
how a computer may be useful to them.

Good morning! and welcome to the introductory course on
computers. We take computing very seriously here and we en-
courage every student to acquire a basic knowledge of the sub-
ject. Could we have the first slide please? ... (slide-projector
noises) ... Okay, let’s have a look at Figure 1.

Well, you’ll notice that I’ve drawn a computer in the centre,
and radiating out from it are lines leading to some of the sub-
jects that we teach here. Let’s have a look at each one in turn.

First, Languages. Well, you’ll be submitting quite a lot of
written work and we encourage you to use a word processor.
This is much like using a typewriter except it’s more forgiving
when you make a mistake. In fact, editing text can be quite en-
joyable when you use a word processor.

Secondly, History. Essays again, of course, but also we’ll
expect you to gain some familiarity with historical databases.

What about Engineering? Well, you must learn to use our
Computer Aided Design software, both for producing techni-
cal drawings and for helping with the design process generally.

Financial packages are very important for Business Stud-
ies. But also, we set great store by the use of simulations. Uh,
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you can think of these, in your case, as computerised business
games where a group of you manage the finances and so on of
an imaginary company. You’ll also need to know about data-
bases and spreadsheets. A spreadsheet, by the way, is a sort
of super-calculator, except you can enter formulae as well as
numbers — it’s ideal for financial planning,

Social scientists — you’ll find yourselves using the com-
puter to analyse the results of surveys, and there are several
statistical packages designed for this purpose.

Scientists in general are likely to want to learn program-
ming. Sometimes you’ll be able to buy software off the shelf,
but very often you’ll have your own requirements and then
you’ll have to program the computer yourself,

Last, but not least — Computer Science ... If you’re study-
ing to be a computer scientist then you need some familiarity
with all the things I've just mentioned. In addition, you’ll have
to learn in detail about things like operating systems and so
on ...

Well, that’s all for this session but there’s one application
you're all likely to find useful, and that’s Desk Top Publish-
ing. For example, Figure 1 that you’ve been looking at, took
me a few minutes to produce, using a desk top publishing pack-
age. The result’s much neater than I could’ve achieved by hand.

Yacmuna C
Tapescript

Teacher I: Tony, I'm sorry to begin with an obvious question,
but, em, what exactly is CALL?

Tony Longstone: CALL stands for Computer Assisted Lan-
guage Learning. In fact, CALL is a very general term which
is used to describe the use of com puters in any form as part
of a language course.

Teacher 1: When you say ‘in any form’, do you mean that a//
uses of computers in language education can be described
as CALL?

Tony Longstone: Well, yes, within reason. Obviously, if a
teacher is using a computer just to type out a worksheet, or
if'a private college provides a computerized bill for a stu-
dent for language course fees, that doesn’t count as CALL.
The computer has to be actively used by the students as
well.

Teacher 2: What sort of computer do you need?

Tony Longstone: Well, an important thing to find out at the
beginning is what software is available for the machine or
operating system you’re thinking of buying. If there’s no
available software specifically written for CALL, you
should check that there is at least some good applications
software available, such as word processing, databases, and
spreadsheets.

Teacher 2: How many machines do you need?

Tony Longstone: That depends very much on factors like the
number of students, the amount of space available, and
above all, the size of your budget. In an ideal world, you
would have one computer per student, and all the comput-
ers would be linked by a local area network. This would
allow the students to exchange material and send each other
information and messages.

Teacher I: But supposing we can’t afford that level of invest-

ment, is it possible to have CALL using only one com-
puter?

Tony Longstone: Yes, provided that you organize things prop-
erly.

Teacher I: Mm. Could you be more specific?

Tony Longstone: Well, if you are going to have just one com-

. puter available, you should try to get a screen that’s big
enough for all your students to see. Alternatively, you could
use a display device which will allow you to project the
picture from the computer onto an overhead projector.

Teacher 2: Talking about organization, what’s the best way to
organize the equipment, in your opinion?

Tony Longstone: Again, that depends on your situation. I think
the most common way of organizing computers is to lo-
cate them in one special-purpose computer room, with the
furniture set out so as to allow group work at machines.
However, if you prefer to limit your CALL activities to
one computer per class, the ideal would be to have one
computer permanently in each of your classrooms. If this
isn’t possible, a good solution is to install the equipment
on a trolley which can be taken into the classroom for the
lesson. Of course, computers needn’t be limited to the class-
room,

Yacmuna D

Many of the robots in use today do jobs that are especially
difficult for human workers. These are the types of jobs that
require great strength or pose danger. For example, robots are
particularly useful in the automanufacturing industry where
parts of automobiles must be welded together. A welding tool
used by a human worker weighs about 100 pounds or more
and is difficult to handle. As mechanical supermen, robots may
be called upon to do anything from moving heavy compo-
nents between workstations on a factory floor to carrying bags
of cement.

Spray painting is another task suited to robots because ro-
bots do not need to breathe. Unlike human painters, they are
unaffected by the poisonous fumes. Robots are better at this
task, not because they are faster or cheaper than humans, but
because they work in a place where humans cannot.

Third in the list of useful jobs for robots is the assembly of
electronic parts. Robots shine at installing chips in printed cir-
cuit boards because of a capability that robots have that people
don’t. A robot, once properly programmed, will not put a chip
in the wrong place. This automatic accuracy is particularly
valuable in this kind of industry because locating and fixing
mistakes is costly.

Earlier robots were usually blind and deaf but newer types
of robots are fitted with video cameras and other sensing de-
vices that can detect heat, texture, size, and sound. These ro-
bots are used in space projects, nuclear reactor stations, and
underwater exploration research. '

" In their efforts to expand the range of robotic applications,
researchers are looking beyond traditional designs to examine
a variety of potential models from the biological world. The
industrial arm is a classic example. Scientists have been able
to model robots to imitate the vertebrate spine of a snake in
order to paint the interior of automobiles. They have simu-
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lated the muscle structure and movement of an elephant’s trunk
in an attempt to create a robotic arm capable of lifting heavy
objects. Scientists have also emulated the flexibility of an oc-
topus where the tentacles can conform to the fragile objects of
any shape and hold them with uniform, gentle pressure. A varia-
tion of this design can be used to handle animals, turn hospital
patients in their beds, or lift a small child.

The challenge of equipping robots with the skills to oper-
ate independently, outside of a factory or laboratory, has taxed
the ingenuity and creativity of academic, military, and indus-
trial scientists for years. Simply put, robot hands — like robot
legs, or eyes, or reasoning powers — have a long way to go
before they can approach what biological evolution has
achieved over the course of hundreds of millions of years. Much
more will have to happen in laboratories around the world
before robots can be compared to nature’s handiwork.

Tapescript

David: So tell me, Charles, how have you applied document-
image-processing technology at your company? What ex-
actly happens in the process?

Charles: Well, David, first of all, when a document arrives in
the mailroom, the envelope is opened by a machine. Then,
its pages are removed and arranged by a clerk. Next, these
pages are transferred to a mail analyst.

David: What is the analyst’s job?

Charles: He or she reads the mail to determine the applicable
customer and the routing of the document. This informa-
tion is then entered into the computer.

David: Does the analyst have to supply routing and indexing
data?

Charles: No, that’s largely automated. All the analyst needs to
do is enter two items: an IMS index transaction, which is a
descriptive code often composed of the form number, and
then the customer name. The computer supplies the rout-
ing and indexing data.

David: What happens once the index is stored?

Charles: Once the index is stored, a temporary key number is
generated and written on the document.

David. How much time does all that take?

Charles: Believe it or not, only 11 seconds. That’s all the time
it takes for this step. ;

David: That’s pretty fast! So, after the document’s scanned,
what’s the next step?

Charles: The last phase of the input process involves checking
the quality of the scan and entering the temporary docu-
ment ID number to link it with the index that’s already
been generated. ,

David: How soon can it be available on the system?

Charles: Once the document number’s entered, any user in
the system can access the document, including users at re-
mote sites.

David: How long does it take to retrieve a document?

Charles: If the document’s been processed within the past year,
it only takes 15 or 20 seconds. Requests for older docu-
ments take longer because an operator must manually mount
an archived disk.

Tema: “Computers applications”
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Task 1.

You are in the lecture on robots. Listen to the extract
from it attentively. Define which of the statements below
matches the main idea of the lecture. On your answer sheet
put "+" in the box next to the sentence which matches it
and "—" in the box next to the sentence which doesn’t match.

1. [ Robots are able to do any job people like
2. [ Robots can do routine, difficult, dangerous jobs
3." [J Nowadays robots help people in scientific research

You will get 3 points for every correct answer.

Task 2.

You are in the lecture on robots. Listen to the extract
from it attentively. Do the pictures below match the con-
tents of the lecture? On your answer sheet next to 4A; 5B;
6C put the appropriate numbers, defining the order in which
the lecturer mentions the pictures.

You will get | point for every correct answer.

Yacmuna B

Task 1.

Youarein a lecture. Listen to it attentively. Choose the
correct answer to the question below. On your answer sheet
next to number 1 put A, B or C. If you agree with none of
them, put your own variant.

What is the lecture you've just heard abr)ut.f’)

Computer software \
Computer hardware
Computer app!icrztimzs)

~e

" You will get 2 points for every correct answer.
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Task 2.

Do you know in what ways computers may be useful to
students? Listen to the lecturer and you'll find out. Think
of filling in the table to show how different people need
different software. To help you, we have already filled in
several blanks. On your answer sheet draw other crosses
according to what the lecturer says.

8 w
5 =
§ 1% al&|3
uta' ) g % bmu A =
s |8 |E|l&| &2 E
5 | 8 5 | £ & 7 s
R ER TR R S
2,3 programming
4,5  word processing
6,7 database X
8,9  spreadsheet
DTP AXT X X" XX =
10, L'l statistics
12, 13 financial software
14,15 CAD
16, 17 simulations
18 operating systems

You will get I point for every correct answer,

Yacmuna C

Task 1.

Do you remember that a friend of yours asked to tell
him about the discussion? Listen to it. Put the sentences
below expressing the main points of the discussion in the
right order according to the text. On your answer sheet put
numbers 1; 2; 3 in the boxes next to the sentences.
I. [J Hardware and software needed for CALL
2. L1 The best way of organizing equipment for CALL
3. LJCALL, a part of language course

You will get 2 points for every correct answer.

Task 2.

Tony Longstone, an expert on educational technology,
is answering questions from teachers about Computer As-
sisted Language Learning (CALL). Listen to the discussion
and decide whether the followin g sentences are true (T), false
(F) or they contain the information which is not mentioned
in the text (NI). On your answer sheet write the appropriate
letters in the boxes next to every sentence number.

4. CJApplication of computers in language education can
be described as CALL if a teacher and students actively
use them,

5. [IBefore buying a computer for CALL you must check
that there is good applications software available.

6. L1 The number of computers you need will depend on
two factors: the number of students there are, and the
amount of physical space available.

7. L1t is possible to have CALL using only one computer.

8. Ll Theideal way to organize CALL is to have one com-
puter in each classroom.

9. [JStudents must have free access to CALL resource.
You will get | point for every correct answer.

Task 3.

Tony Longstone, an expert on educational technology,
is answering questions from teachers about Computer As-
sisted Language Learning (CALL). Listen to the discus- :
sion carefully to get the detailed information. Read the sen-
tences below. Put a cross in the box next to the number of
the sentence, containing a mistake on your answer sheet.
Then listen again and rewrite the sentence with the correct
information.

10.CJ1f a private college provides a computerized bill for a
student for language course fees that counts as CALL.

11.J Having one computer per student and the connec-
tion with local area network for CALL allow the stu-
dents to exchange material and send each other infor-
mation and messages.

12.L.] While using only one computer for CALL, special
preparations shouldn't be done.

13.0JTo have CALL using only one computer you should

" Iry to get a screen that’s big enough for all the students
to see.

14.L] The most common way to organize the equipment
for CALL is to locate the computers in one special pur-
pose computer room.

i

16.

You will get 1 point for every correct answer.

Yacmuna D.

Task 1.

You areinterested in the achievements of the robotics revo-
lution, aren’t you? So, you are in the lecture concerning ro-
bots. Listen to the extract from it. Read the sentences below.
Define what kind of the robotics revolution achievements do
they imply. On your answer sheet next to the sentence number
write down appropriate letters A, B, C, D or F.

1. Many of the robots in use today do jobs that are espe-
. cially difficult for human workers, these that require

great strength or pose danger.

2. The automatic accuracy of robots is particularly valu-
able in electronics. :

3. Therobots fitted with video cameras and other sensing
devices are used in space projects, nuclear reactor sta-
tions, and underwater exploration research.

A. Robots do every kind of manual work at enterprises to-
day.

B. Robots give people the opportunity to do more inter-
esting and creative work.

C. Robots help to produce electronic goods of higher qual-
ity.

D. Robots accelerate science development.

E. Robots can do any kind of job.

You will get 4 points for every correct answer.
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Task 2.

Are you interested in what ways a computer may be used
in an office? Listen to the conversation in which Charles,
the Information Services Manager in an American insur-
ance company, talks about the steps involved in making a
document available to users via document image-process-
ing (DIP). Choose the correct completion to every sentence
below. On your answer sheet next to every sentence num-
ber put the appropriate letter.

4. Document-image-processing technology can be applied to

save... A .. AC power
B ... paper
C ... time

5. DIP helps to cut down costs by...
A ... increasing existing human efficiency
B ... decreasing the number of staff required to perform
certain tasks
C ... increasing skill level of office personnel
6. DIP gives an opportunity to save... A ... office space
B ... maintenance
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